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Notes 3.6 — Synthetic Division and Finding the Conjugate

Warmup - Solving for x.
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Investigation — Synthetic Division
Divide (x* — 2x3 + 3x + 12) + (x + 3)
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Practice, write answers in Standard Form.
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Finding the Conjugate

A conjugate pair is simply a pair of binomials that have the same numbers but differ by having opposite signs

between them. For example (a + b) and (a — b) are conjugate pairs. You've probably noticed them when
you’ve factored a quadratic expression that is the difference of two squares.

Example: x* — 25 = (x + 5)(x — 5). The two factors (x + 5)(x — 5) are conjugate pairs.

Example: The conjugate of (3 + v2) is (3 — v2). The conjugate of (=2i) is (+2i). Think of it as (0 — 2i) and

(0 + 2i). Change only the sign between the two numbers.

Find the conjugate for each value:
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